Scientific Notation


We use scientific notation to express very small numbers (size of an atom) and very large numbers (distance to the sun) in a more compressed way without all the zeros.

150,000,000,000.  

· We generally move the decimal from the starting position until there is only one number in front of it.

· With numbers that are originally larger than 1, the exponent is positive.

· Since we had to move the decimal 11 places that becomes our exponent.

       1.5 x 1011

_______________________________________________________________________________________________________________________________

0.000 000 004 5

· We generally move the decimal from starting position until there is only one number in front of it.

· With numbers that are originally smaller than 1, the exponent is negative.

· Since we had to move the decimal 9 places before there was one number in front of it, then that is our exponent

       4.5 x 10 –9

       8.98 x 10 12     

· Since the exponent is positive, we know that the regular number must be greater than one.

· We know that we must move the decimal 12 places to the right

      8 980 000 000 000

_____________________________________________________________________________________

      6.7 x 10 –8  

· Since the exponent is negative, we know that that regular number must be less than one.

· We know that we must move the decimal 8 places to the left.

      0.000 000 067

Positive exponents= think large numbers over 1

Negative exponents= think small numbers less than 1
Scientific Notation


We use scientific notation to express very small numbers (size of an atom) and very large numbers (distance to the sun) in a more compressed way without all the zeros.

150,000,000,000.  

· We generally move the decimal from the starting position until there is only one number in front of it.

· When dealing with a number that was originally larger than 1, the exponent is positive.

· Since we had to move the decimal 11 places that becomes our exponent.

       1.5 x 1011

_______________________________________________________________________________________________________________________________

0.000 000 004 5

· We generally move the decimal from starting position until there is only one number in front of it.

· When dealing with a number that was originally smaller than 1, the exponent is negative.

· Since we had to move the decimal 9 places before there was one number in front of it, then that is our exponent

       4.5 x 10 –9

       8.98 x 10 12     

· Since the exponent is positive, we know that the regular number must be greater than one.

· We know that we must move the decimal 12 places to the right

      8 980 000 000 000

_____________________________________________________________________________________

      6.7 x 10 –8  

· Since the exponent is negative, we know that that regular number must be less than one.

· We know that we must move the decimal 8 places to the left.

      0.000 000 067

Positive exponents= think large numbers over 1

Negative exponents= think small numbers less than 1

